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BUR=)L: OUT @Q@@®DO® 27 0A fELR—IL : OUT @BO@®DO® 27 0A
IN OOB@D® it : 87 A IN OOB@OD® it : 87 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

B8 ~H 5 44 55 99 27.6 71.4 26 flEE AR 55 48 103 28.8 74.2

2 Bl ERE 47 45 92 20.4 71.6 27 B 59 45 46 91 16.8 74.2

3 B2 E— 37 35 72 0.0 72.0 28 TAH iz 47 44 91 16.8 74.2

4 /)\E F5h 46 42 88 15.6 72.4 29 =¥ fF 51 46 97 22.8 74.2

5 FF ¥=— 42 40 82 9.6 72.4 30 HIR FHFAKER 49 46 95 20.4 74.6

6 it &5k 42 45 87 14.4 72.6 31 X =17 47 42 89 14.4 74.6

7 FH &S 43 38 81 8.4 72.6 32 Eiff 16— 44 51 95 20.4 74.6

8 /I & 40 41 81 8.4 72.6 33 oK = 49 52 101 26.4 74.6

9 WH #HI 48 44 92 19.2 72.8 34 i Eif 51 43 94 19.2 74.8

10 2,1 1BG 48 56 104 31.2 72.8 35 Alll =x— 52 54 106 31.2 74.8

11 18IF 4R 43 42 85 12.0 73.0 36 AR FEE 52 53 105 30.0 75.0

12 }H 25 42 43 85 12.0 73.0 37 )l &F 51 54 105 30.0 75.0

13 1 RF 45 40 85 12.0 73.0 38 5H £E 54 51 105 30.0 75.0

14 B2 % 57 51 108 34.8 73.2 39 St B2— 48 50 98 22.8 75.2

15 77 FFR 36 41 77 3.6 73.4 40 TIE B 59 51 110 34.8 75.2

16 =47 & 46 42 88 14.4 73.6 41 A6 B2 49 48 97 21.6 75.4

17 &t E— 48 52 100 26.4 73.6 42 [o[Ep 455 48 49 97 21.6 75.4

18 184 = 43 51 94 20.4 73.6 43 |RH S 51 52 103 27.6 75.4

19 fRE 1B— 42 51 93 19.2 73.8 44 FoK B3 49 47 96 20.4 75.6

20 EIEP 1S 41 46 87 13.2 73.8 45 KH n— 50 58 108 32.4 75.6

21 fRE XHY 43 44 87 13.2 73.8 46 K%Y [EBF 44 39 83 7.2 75.8

22 || =8 49 50 99 25.2 73.8 47 =& B 44 50 94 18.0 76.0

23 BF F*E 45 41 86 12.0 74.0 48 AT 5 51 49 100 24.0 76.0

24 HH F5id 40 40 80 6.0 74.0 49 Kt &3 46 41 87 10.8 76.2

25 1% 85 45 41 86 12.0 74.0 50 HiN 8.2 46 46 92 15.6 76.4
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IN OOB@D® it : 87 A IN OOB@OD® it 87 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

51 FH == 49 48 97 20.4 76.6 76 K T 48 56 104 24.0 80.0

52 llZ — 45 46 91 14.4 76.6 77 FIH Y& 50 54 104 24.0 80.0

53 Alll 1E 50 46 96 19.2 76.8 78 =5 &7 57 59 116 36.0 80.0

54 iz EAL 48 48 96 19.2 76.8 79 KB =T 45 44 89 8.4 80.6

55 =i5 5T 47 49 96 19.2 76.8 80 11 /T 46 49 95 14.4 80.6

56 A7k 5h 49 46 95 18.0 77.0 81 H¥¥ R¥ 57 57 114 32.4 81.6

57 {HEY LT 45 50 95 18.0 77.0 82 =& K& 54 55 109 26.4 82.6

58 =7 Ek5 45 44 89 12.0 77.0 83 fit B 58 49 107 24.0 83.0

59 £+ BE 50 45 95 18.0 77.0 84 XHF BX 58 55 113 28.8 84.2

60 HE A 47 41 88 10.8 77.2 85 & £ 55 65 120 32.4 87.6

61 bu%w fodE 52 48 100 22.8 77.2 86 A1 L 1FAN 59 61 120 32.4 87.6

62 /% 1HE 56 49 105 27.6 77.4 87 H I EX 74 57 131 36.0 95.0

63 mﬁ 15 52 53 105 27.6 77.4

64 Hlix= BBk 47 46 93 15.6 77.4

65 HEY =0 49 49 98 20.4 77.6

66 Eiff KX 54 44 98 20.4 77.6

67 Sl # 53 50 103 25.2 77.8

68 %yt BA% 50 58 108 30.0 78.0

69 Si5 PRE 56 58 114 36.0 78.0

70 5 A& 56 57 113 34.8 78.2

71 £75X%)I| F1E 50 53 103 24.0 79.0

72 &% 1EX 55 | 47 102 22.8 79.2

73 HEy =i 51 45 96 16.8 79.2

74 *2%% 8| 52 56 108 28.8 79.2

75 [EIED [%EB 57 55 112 32.4 79.6




